
Part # 07128                              
 

                                    Hornet 900 Hugger                                   
 

Hugger Fitting Instructions   

 
Fittings: a)   1x Bracket – CFK07127 

  b)   2x M6x16 Stainless steel Button head bolts – CBOL0251   

               c)   2x M6 Black plastic washers – CWAS0221 

 d)   2x M5x12 Stainless steel Button head bolts – CBOL0110 

               e)   2x M5 Black plastic washers – CWAS0100 

 

 

General Information.   

 

As with all huggers this model is designed to sit close to the tyre and should not be used with an 

oversized tyre. When fitting is complete the Hugger should sit centrally over the tyre when viewed from 

the rear.  The tolerance in the right hand side mounting bracket allows adjustment to achieve this. As with 

all accessories the mountings should be checked for tightness. 

 

********************************************************************* 

Remove top mounting bolt of left footrest hanger and loosen lower, this will allow the foot rest hanger to 

be lowered to gain easy access. 

(Care should be taken not to scratch sing are when lowering) 

  

Remove all bolts on original hugger and remove brake hose from right hand side of hugger. 

Remove original hugger taking care not to catch underside of bike. 

 

Feed replacement hugger from rear left hand side of bike with the hugger at a 45 degree angle. Move the 

hugger forward and lower into position taking care not to catch underside of bike. 

 

Lower the hugger right hand side first and position the brake hose over the ledge on the hugger. 

When in position fasten front mount point with new M5 bolt and “P” clip supplied, making sure that the 

brake hose is correctly located into the “P” clip. 

 

Fasten rear mount point with M5 bolt supplied, leave both fasteners loose until all fasteners are in place. 

 

When right hand side fasteners are in place insert left hand side M6 fasteners supplied, making sure that 

the chain guard is on the outside of the mounting lugs on the swing arm. 

 

When all fasteners are in place tighten, and replace footrest hanger, again taking care not to catch swing 

arm. 

 

 

 

 


